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PROFESSIONAL EXAMINATION BOARD
Jail Department - Prahari (Karyapalik) Recruitment

Test 2018

15t Oct 2018 09:00AM
Topic:- General Knowledge
1) In India, National Doctor's Day is observed to mark the birth and death anniversary of ./
HRd #, WP fafeees faaa Pt MR Yo Sl S FU H A1 o1 8
1. Dr. Hargovind Khurana / Ef. 438 g1
2. Dr. Satish Chandra / =¥, &d191 5%
3. Dr. Bidhan Chandra Roy / =T. faeme =% o7
4. Dr. Sarangi / =T. IR
Correct Answer :-
« Dr. Bidhan Chandra Roy / =¥, faem =% 7
2) All India Congress Committee (AICC) meeting to ratify the Quit India resolution was held at session. /

YR BIS! Yheu F Hedl 31 F e oife WRda $i9 $ad @i &t doa #i AT #
Smayford farar ot

1. Faizpuri / W
2. Calcutta / p eIl
3. Bombay / CIE5S)

4. Tripuri / ﬁgﬁ

Correct Answer :-

» Bombay / i

3) Which chemical is sprayed into clouds in the process of cloud seeding to bring in artificial rain? /

P IR FRam & fore Farss W& ot uftear & argal A Fi9 | A o1 fsaa fear smars?
1. Silver fluoride / RIeeR WARTSS

2. Silver bromide / RieaR FHES

3. Silver chloride / RIeaR m

4. Silver iodide / RIceR 3faSTES

Correct Answer :-

« Silver iodide / IeaR 3MNSZS

4) The Scheme National Rural Drinking Water Programme (NRDWP) is launched by: /
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TP Il 3 5 SRiEH (ARSI AT RIS TS 7
1. Ministry of Environment, Forest and Climate Change / WTEITUT, T 3R SIcidrg uRad @A

2. Ministry of Human Resource Development / AT T faera darea

3. Ministry of Rural Development / grtor fae T Harer

4. Ministry of Drinking Water and Sanitation / UISI¢] 3R T=sar HATeTd

Correct Answer :-

« Ministry of Drinking Water and Sanitation / Jgold 3R W5 dl HAT

5) The Union cabinet has approved the establishment of one of the four National Institutes of Design (NID) in
which of the following cities of Madhya Pradesh? /

AU & Ffafea & @ 5w wer & S dfivisa 7 4 P fEemga 4RM @Fengsh 9 4 @ 3t
RITT B Tt ¢ & 82

1. Indore / 3?3?

2. Jabalpur / SI§CTYR
3. Gwalior / TaTfCAR

4. Bhopal / T

Correct Answer :-

« Bhopal / e

6) The Relo Tribal Songs of Madhya Pradesh are sung by which tribe? /
HEATL % AT ST 3, e s g Ime S 82

1. Maria / FTRAT

2. Gond / e

3. Bharia / ATRAT

4. Bhil / <1

Correct Answer :-

« Maria / 91037

7) Where in Madhya Pradesh is the Vindhyachal Super Thermal Power Station located? /
Aeauew # fiearae guv e urer W Hel fRUG 22

1. Damoh / E'ITh_G'

2. Singrauli / RpRieht

3. Betul / S
4. Vidisha / g aQI

Correct Answer :-

. Singrauli / RITRIcH
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8) Sambal Yojana is launched for which of the following purposes? /
fReferfera & & fFa Sge & forg et s s & 152

1. Environment protection / T T {0

2. Subsidized water connection / FTeASTHT TTHT FdFIrT

3. Subsidized power connection / TfeaETET fasTelt FHeraerd

4. Cheetah conservation / STaT HT&TT

Correct Answer :-

« Subsidized power connection / FfeHZ I AT el

9) Madhya Pradesh has how many districts? /
7 yeu | fpaq o &2

1.53

2.51

3.52

4. 50

Correct Answer :-

10) Indian athlete Tejinder Pal Singh Toor won the Gold in Asian Games 2018 in which sport? /
YR gyeiie afvier ure Rig @ A tRrars @« 2018 # v e & waof ugs sftar

1. High jump / 3 B (8T ST)

2. Shot Put/ el B (Q'IV'I?%

3. Long Jump /Fﬁﬁ% (GLIESE)

4, Javelin / HTCT (ﬁ?ﬂ%ﬂ)

Correct Answer :-

« Shot Put / TTidl B (e Ge)

11) Name the joint venture dam project between Madhya Pradesh, Uttar Pradesh and Bihar inaugurated in June
2018./

S 2018 B TEAULRT, ST USRI 3R fagR & dta fory wgaa Iem gty ufkais = &1 Igures fsar mar
IS A9 Farsy |

1. Maheshwar Dam / II%%R gy

2. Bansagar Dam / STURIVR &Y

3. Indirasagar Dam / SRR 9y

4. Kacchal Dam / =dd d1Y

Correct Answer :-
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« Bansagar Dam / STURITR &Y

12) Name the Indian Sportsperson who was the Flag Bearer during the Asian Games 2018 Closing ceremony? /
TRMATE Gl 2018 & HATIH HARIE & SR P14 A1 HRdHY faas wwass yndt?

1. Rani Rampal / NEIRIEEI

2. Neeraj Chopra / BILE] m

3. Arpinder Singh / GiTﬁE?ﬁlTs’

4, Mary Kom / BRIk}

Correct Answer :-

« Rani Rampal / BRI

13) Name the Indian woman cricketer who recently announced retirement in August from T20 Internationals. /
¥ HRdT afger fEArst 1 9 Farsy g o # €20 Siarsiy frde & W=ame 31 Siwon $1 31
1. Jhulan Goswami / €[¢T Tt

2. Punam Raut / QTH I3

3. Harmanpreet Kaur / ETH:E?[H BR

4. Mithali Raj / THdTel X1e0

Correct Answer :-

« Jhulan Goswami / 3 TATH

14) Name the Indian scientist who is the present DRDO (Defense Research and Development Organization)
Chairman. /

I YR AP BT ATH FaT¢ St aaqT= | SRS T G T AP We) & 3remel 82
1. Gaiti Hasan / TRl 899

2. Kavita Shah / fddl =18

3. C.N.R. Rao / ¥I.T.3/R. [

4. G. Satheesh Reddy / STt Tii=T XS

Correct Answer :-

« G. Satheesh Reddy / STt IiT=T g

15) Name the Ministry associated with the Government scheme ‘Krishna Kutir’. /

STEHI FTSIAT "FO FEIT F S HATA KT ATH JATSA?
1. Ministry of Tribal Affairs / ST T4 AT

2. Ministry of Child Labour / T =TH H=Te4
3. Ministry of Urban Development / 9Tg<T farshTer #2117

4. Ministry of Woman and Child Development / FT2dT U& Tl farshTe HATA=
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Correct Answer :-
« Ministry of Woman and Child Development / T2t Ua a1er fareme w1era

16) Name the former Indian Army Chief General who was awarded ‘Legion of Merit (Degree of commander)’ by
the United States Government on 171 Aug 2018./

I Yd YRR A1 YA SR P ATH Ia13¢, o 17 ST 2018 HY GAT5eS We PR GRT Tl S
Afve @wisT 3t {3y I gwnfa fear man

1. Dalbir Singh Suhag / TSR g W

2. Joginder Jaswant Singh / AffeR Sedd Rig
3. Bikram Singh / foown ﬁ‘s’

4. Bipin Rawat / faft= raq

Correct Answer :-

. Dalbir Singh Suhag / SR g YT

17) According to January 2018 statistics, Madhya Pradesh is the largest producer of milk in India. /

TGt 2018 & B SI &b SR, A USRI, URA A gY BT Y T3T SAEH ¢

1.2/ IR
2. 7t/ graai

3, 4th / TyT
4. 5t/ gierar

Correct Answer :-

o 4th

18) International Aviation Summit 2018 was hosted by which Indian city? /

e urdia TreR g SRty Sgae Rraw wwie 2018 smaifora fvar war
1. New Delhi / 7S faeait

2. Kolkata / SIeepTdl

3. Mumbai / 485

4. Bengaluru / STT®

Correct Answer :-

« New Delhi /H’s‘ﬁﬁﬁ

19) Which of the following sites has been selected for the development under PRASAD scheme in Madhya
Pradesh? /

A USRT § YATE AT & dgd e & fore Fafefaa & @ <9 a1 wa garmam

1. Omkareshwar / SFTLAT
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2. Bhimbetka / %ﬁﬂﬁm FRESHERS NOW
3. Sanchi / =T

4. Khajuraho / @[<T&l

Correct Answer :-

« Omkareshwar / SFHTCET

20) Which River is known as the ‘life line’ of Madhya Pradesh? /
5 =Y Bt wew wor Y ‘Sfra @ F w9 § T E?

1. Rihand / g2

2. Sone / AT

3. Betwa / Sdidl

4. Narmada / THaT

Correct Answer :-

e Narmada / :lﬁaT

Topic:- General Hindi

1) AR - & forg Wt Wity fadg +Y gfa
1. 3ffa+3fes
2. 3fci+-31fH
3. 3T+3HTeD
4. Jffa+ife®

Correct Answer :-

. Sifa+sifde

1. #EHSA

3) W - ¥ g weh Wit fasde 3 gful
L g+
2. g™
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3. m+a'q' ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁ W
4, G+

Correct Answer :-
o HH+TT
4) [T B - gera¥ &1 3 Fafafead fea A ¥ s are?
1. 9 Fepe ST
2. FReR
3. fordlt Ao o SHM a1 IA IR g Bl
4. & 9 I AT HR &l

Correct Answer :-

5) HWT - P PG TU A A F 2
1. 3BT
2. {THTT

3. BTG
4. BT

Correct Answer :-

6) AT & T T yatgard ara =gl 1 ufda & g |
1. 31, 3rfet, 1

2. 3%, 3, B

3. 3ff¥, 3Tef, UTah |

4. THI, 31, UTah |

Correct Answer :-

. 3ff¥, 3, UTap |

7) 9T - YOI A T VG P A A P AT R?
1. 3Tl

2. fietrae

3. 3{1dcT

4. 3M1qcT

Correct Answer :-

. fiqmEe
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8) HHI - BT W & A B A1 Tt faaa og 32
1. AR
2. TR
3. TR
4. TR

Correct Answer :-

9) 3GYd I BT TIRA YTd RIT 82
1. 3fRaT
2. faarg
3. fawmg
4. HYD

Correct Answer :-

10) - SRf AT o FrA A AP AT &2
1. foRm
2. Pid
3. foRm
4. 3ffq

Correct Answer :-

11) qEA S e A aer SRR @I AP ae?
1. o=
2. 3fddtId
3. 3fSdHD
4. AT

Correct Answer :-

12) RARY AFRH A A P TT I &2
1. HATHIT A
2. 69U
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segifRE @ e "
4. fgy 9a g
Correct Answer :-
. g ™
13) “YISI oA e & R T T P A A s a2
1. 3{quyr
2. ST
3. ST

4. TS

Correct Answer :-

14) Uiy ® Ao & A B9 w19 §2
1. SIS FHH

2. 4g 99

3. Sgsiife TN

4. YN JHIH

Correct Answer :-

. AHIIHE TA

15) H¥e - ST U & 4 1 91 9 faeiv w5 52
1. fyaran
2. e
3. (e
4, HHAT

Correct Answer :-

16) 9191 9fe1 & Y@e, 3ft T@ ¥4@ M|

T3 sgsel B, Ju Fift g7 | # A § | S 971 SR 82
1. XY 3HABR

2. JHD ABR

3. 3JUN 3P R

4. JUHT 3APR

Correct Answer :-
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17) YT S IR T4 G, T afvd JUTTI

g gt FiRrdt g, gen ¥ g | § e | d B9 a1 seR 72
1. RAY 3ABR

2. JHP AABR

3. 3JUN 3P R

4. JUHT 3APR

Correct Answer :-

18) g -SUMI A T Vg A A A P AT R?
1. G

2. QAIHTG

3. gyl

4.gYa

Correct Answer :-

. gufa

19) TREd o UTTd g Bl SLRTEUR Uead Wia- i
IUAT ISP g9 9 o, B wifeT ara siea Ft 1 - A g A I s T e

1. HfekT 78

2. dicq ey

3. IR

4. 1A 9
Correct Answer :-

o A"

20) HHA F o1 T vafgarh ard <) F i & g1
1. FolE, TR, W |

2. Joitg, AR, WIS |

3. IoNg, RS, TS|

4. TSI, IS, WIS |

Correct Answer :-

. Yltg, RS, TR
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Topic:- General English

1) Choose the option that correctly sequences the following sentences:
1. The sap is used in the making of maple syrup.

2. Sugar maple is a hard maple tree.

3. It grows as tall as a 100 feet and as wide as 4 feet.

4. The tree is commercially valued for its sap.

1. 4132
2.2341
3.3412
4.4312

Correct Answer :-

. 2341

2) Choose the correct form of modal auxiliary verb for the given sentence:

Maria is not answering her phone though I have called her thrice. She _ be asleep.
1. ought

2. should

3. might

4. need to

Correct Answer :-

3) Choose the correctly punctuated sentence:

1. the speaker was saying I am happy to — when the bomb exploded.

2. The speaker was saying, “ I am happy to? When the bomb exploded!
3. The speaker was saying, “I am happy to -’ when the bomb exploded?

4. The speaker was saying, “I am happy to — when the bomb exploded.

Correct Answer :-

« The speaker was saying, “I am happy to —” when the bomb exploded.

4) Choose the word that is opposite in meaning to the highlighted word given below:
In his weakened state, his illness is likely to recur.

1. occur

2. reappear

3. continue

4. halt
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Correct Answer :-

o halt

5) Choose the appropriate conjunction for the given sentence:

Thomas needs to work hard ___ he wants to pass the examination
1. then

2. also

3. 80

4. if

Correct Answer :-

6) Choose the appropriate prepositions for the given sentence:

The author graduated _____ high school and enrolled himself ____ a prestigious college to study politics.
1. in, of

2. out from, for

3. from, at

4. into, to

Correct Answer :-
o from, at

7) Choose the option that best explains the highlighted expression:
I can never play pranks on people because I can't keep a straight face.
1. can’t say the punch line well

2. remember the joke well

3. pretend to look serious

4. act well

Correct Answer :-

« pretend to look serious

8) Choose the option that best transforms the given sentence into active voice:
Carrot seeds were being planted by the gardener.

1. The gardener was planting carrot seeds.

2. The gardener was being planting carrot seeds.

3. The gardener has planting carrot seeds.

4. The gardener has been planting carrot seeds.
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Correct Answer :-

o The gardener was planting carrot seeds.

9) Choose the most suitable determiner for the given sentence:

The boy said that there was only ___ piece still missing from his jigsaw puzzle.
1. little

2. few

3. one

4. single

Correct Answer :-

10) Spot the error in the given sentence and choose the option that rectifies it.
I will return back to town soon.

1. I will return back town soon.

2. I will returns to town soon.

3. I will return to town soon.

4. I return back to town soon.

Correct Answer :-

o [ will return to town soon.

11) Choose the appropriate option that changes the given sentence into passive voice.
People speak English all over the world.

1. All over the world English was being spoken.

2. All over the world, people was spoken by English.

3. English is spoken all over the world.

4. English was spoken all over the world by the people.

Correct Answer :-

« English is spoken all over the world.

12) Choose the appropriate form of the tense for the given sentence.
The lights out while I the pipe.

1. went, was fixing
2. went, fix
3. was going, was fixing

4. was going, fixed
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Correct Answer :-
« went, was fixing

13) Choose the appropriate form of the tense for the given sentence.
He ____ jogging in the park every morning.

1. went

2. be going

3. g0

4. goes

Correct Answer :-

14) Choose the appropriate prepositional phrase to complete the given sentence.
He succeeded his perseverance and hard work.

1. in virtues of
2. with virtue of
3. on virtue off

4. by virtue of

Correct Answer :-

by virtue of

15) Choose the option with the appropriate prefix to complete the given sentence.

My younger sister is very ___sociable; she does not enjoy mixing with people unknown to her.
1. un-

2. non-

3. 1in-

4. dis-

Correct Answer :-

16) Choose the option that best transforms the given sentences into one using an adverb:

The examination was over. The children were happy.

1. The examination being over had the children be happy.

2. As the children were happy because the examination was over.
3. As the examination was over the children were happy.

4. Happy were the children and the examination was over.
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Correct Answer :-
» As the examination was over the children were happy.

17) Choose the correct form of verb that is in agreement with the subject:
A good hotel _____ one that the best services to its guests.

1. was, provide

2. has, is providing

3. is, provides

4. are, provide

Correct Answer :-

« is, provides

18) Choose the correct form of the verb from the following options in the given sentence:
My car broke down, so I continue my journey.

1. would not be

2. could not

3. couldn’t have

4. cannot have

Correct Answer :-
« could not

19) Choose appropriate articles for the given sentence:

I wanted to buy pair of sneakers at
and brands.

supermarket but was confused when I saw varied patterns, colours

1. a, an, the

2. the, a3, a

3. the, the, a

4. a, the, the
Correct Answer :-
« 3, the, the

20) Choose appropriate articles for the given sentence:

My friend found ____one-rupee note on the road. He decided to give it to ___beggar.
1.3,an

2. the, an

3.an,an

4.3,a
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Correct Answer :-

Topic:- General Mathematics

1 If* and ¥ are in inverse proportion, then which of the following relations is CORRECT? /

gfe * ok ¥ ufaee srqura €, o) Frafafeaa & & @19 a1 99y T8t 8:

=k

2) A box contains 12 balls. There are 84,000 balls. How many boxes we need in order to pack all the balls? /
TS aia H 12 71d &1 T 84,000 7S & | FY el o1 U w3 & fore gw fvam are wnfee?

1. 7000

2.700

3. 8000

4. 6000

Correct Answer :-

« 7000

3) Express 15625 as a power of 5./

5P °9Td & T H 15625 B AfHoTad S|

1. 6°

4) The value of [2.5 + {3.7 - 4.5+ 5.1 + (29.8 — 7.2) + 3.5}] is: /
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[2.5+ {3.7— 4.5+ 5.1 + (29.8 — 7.2) + 3.5}] BT HM B:
1.32.7
2.32.8
3.32.9
4,325

Correct Answer :-

« 329

5) The distance of a point (-5,5) from x-axis is: /
x-31&1 | T g (-5,5) BT g &

1. 10

2.5

3.0

4.-5

Correct Answer :-

6) The largest integer between -7 and 0 is: /
-7 3R 0 & fHa YA g1 QuIfe 3:

1.-6

2.-1

3.0

4.6

Correct Answer :-

7) How many non-square numbers lie between the squares of numbers 2000 and 2001? /
| 2000 TG 2001 F T & d1g fpa-t R-avf T=ms gdt &2

1. 2000

2.4000

3.2001

4. 4001

Correct Answer :-

» 4000

8) A cricket ball weighs 160g. What is the weight of a pack containing 12 balls? /
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TS fohdre 7ig BT o 160 AW B 1 12 TS 910 TP U &1 aoi fba-1 g2
1. 1920g / 1920 TTH
2. 1600g / 1600 TTH
3. 1200g / 1200 T
4.1620g / 1620 I8

Correct Answer :-

. 1920g/ 1920 9TH

9) A tiger weighs 280 kg. If a blue whale weighs 1,40,000 kg, then how many tigers are needed to be put together
to weigh same as that of a whale? /

T 919 &7 9oi 280 fHUT 81 afe T el @A BT a9 1,40,000 fHUT ], 7 /@ P FHH T UTWd A B
fore fra™) aral @) ue ATy ¥@T ST 91ige?

1. 140
2. 400
3. 500
4. 200

Correct Answer :-

« 500

10) Choose the true expression. /
g se® g
1.26-(-5)—8=26-13

2.-124 -34=-90
3.-36—(+97)=- (36 + 97)

4.-89 —25=-(-25-189)

Correct Answer :-

e 36— (+97)=- (36 +97)

11) At which value of k, the linear equations 3x - 2y =13 and kx - 8y = 40 have no solutions? /
k & 5 7 W, 3P THHR01 3x - 2y =13 TH kx - 8y = 40 BT P/ g 181 &2

1. 17

2. 15

3.8

4,12

Correct Answer :-

o 12
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12) In a class of 50 students, 36% are boys. Find the number of girls in the class. /
50 BT B TP BT H, 36% TSP ¢ | P& H dsfhal &1 T3 J1d B

1.26

2.28

3.32

4. 18

Correct Answer :-

13) Find 27xdp) — (-16x4) +7, if p = -2./

fE p = -2 8, A (27xdp) — (-16x4) +7 FTd B |
1,287

2.273

3. -264

4.-145

Correct Answer :-
o -145

14) Which of the following has a cube with unit’s digit ‘1°? /
oA ds PR F oie 1" S AT 3?2

1. 2237

2. 1431

3. 1439

4. 3473

Correct Answer :-

o 1431

3 1
15) John ateg of a cake. He then gave = of the remainder to his brother. What fraction of the whole cake

will be left with him? /
ﬁﬂﬁwaﬁﬁgﬁmml ﬁﬂaﬂﬁra‘rﬁréﬁw%mﬁ ATS HI fEar 9ot e &

fehaelT 37eT 304 U g9 ST 87

=l Y

=R o8
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W =

W b

4.

Correct Answer :-

2
. 9
16) iy T B 7
§x§—§x3 FT 5 AT IR
1.7
7
2. 2
7
3.2
7
4, 3

Correct Answer :-

17) Find the cost of polishing a semicircular table of diameter 3.5m, if therate of polishing is Rs. 10/m?
(take 7 =§ 57
3.5 # =TT gl T HEIeaThR A @ U T 6T AR A H TIE aiferereT 6t
o€ 10 &l & (== W)

1. Rs. 38.5/38.5%UU

2. Rs. 48.13/48.13 34U

3. Rs. 45.5/45.5%UUQ

4.Rs. 36.57/36.57 U

Correct Answer :-

+ Rs.48.13/48.13 20U

18) Simplify /| §{el HhiTaT:
60 — 43 /576 + 49+6x 8

1.168

2. 74

3. 69

4. 196
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Correct Answer :-

¢ 69
19)
3+1 faid: - 5
Tfa=2"" Bt s Wb pl
-1 '3 1
/3 +1 fa-1 - -
o a==" == @dal+ab+bl=
Va-1 Vis+1
1. 15
2. 14
3.-15

4 15+18V3

Correct Answer :-

20)

Which of the following is a term of the expression 4x* — 3xv? [
Tr=afaa & & &l a1 9o 4x? - 3xy & U 95 57
1.X,y

2.4,3

3. 3xy

4, 4

Correct Answer :-

=

. dx=

Topic:- General Science

1) Which of the following two organisms belong to phylum ‘Platyhelminthes’?
i. Earthworm

ii. Tapeworm

iii. Ascaris

iv. Planaria

v. Leech

frrefafaa & @ o149 3 €1 o @RI Bread & H&id 21
i. Hgam (srda)

ii. BT (SuaH)

iiii. TEPTINY

iv. TRRET

v. Sifep

1.iand i only /i 3R ii

2. ii and iv only / ii 3R iv
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3. ii and iii only / ii 3R iii
4. iii and v only / iii 3R v

Correct Answer :-

« ii and iv only /ii 3R iv

2) Which of the following separation methods should be adopted to separate an aqueous mixture of common salt
contaminated with limestone? /

AT URR A g AT T0S & Ta 1 fHY01 B e H3A & g Fafetaa o & o @ gygswor faftry
B YT AT ATRT?

1. Use of separating funnel and then filtration of the aqueous mixture /
JYTHTRI B1T BT YA 3R R STeftg firsror &1 e |

2. Distillation and then use of a separating funnel /
TG 3R R GUIHRY BT BT TNT |

3. Sublimation and then distillation of the aqueous mixture /
T TR iR STeita fryor o1 sraa |

4, Filtration and then evaporation of the aqueous mixture /

At iR ftbr et fvgyor o1 arediesron|

Correct Answer :-

« Filtration and then evaporation of the aqueous mixture /

fAeT 3R TR STy fHryur o1 arediesrun|

3) Small pox vaccine was discovered by: /

TP F A B @S ____gRI S TS A
1. Edward Jenner / an_sﬁ SR

2. Gregor Mendel / IR Hsd

3. Madame Curie / HSH m

4. Louis Pasteur / g‘a‘ LIRS

Correct Answer :-

o Edward Jenner / an_st SR

4) The structural and functional unit of nervous system is: /
AT 7 B WRAATHS IR YPAIAS sHPE Bl
1. Nephron /ﬁ'ﬂﬂ:f

2. Sarcomere /ﬂﬂﬂﬁﬁf&?

3. Neuron / 1Y @UT‘D
4, Brain/m(a:l)
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Correct Answer :-

« Neuron / &g @UT‘D

5) Animal husbandry does not include i
LRiCIGEE: TR

1. breeding / US4

2. disease control /@vﬁuam

3. feeding / 3TGIR

4. farming /'@T‘ﬁ

Correct Answer :-

o farming /@T‘ﬁ

6) In conduction, the particles of the medium Vi

T §, AT & BT

1. only vibrate about their mean position / Had U Ty fRRUfa & sé'-ﬁ?f HUT B %I
2. are perfectly at rest / U;Uf FTUY TR TR Epl?f % |

3. vibrate as well as displace / HUT B Y-y farmiog o Eﬁﬁ % |

4. displace from one end to another end / Tdh RR 3 W R A fownfug sﬁ % |

Correct Answer :-

« only vibrate about their mean position / Had 3Ot H1eg fRUTT & 6-R1E Hua v gl

7) The process used to separate coloured components of a mixture is known as: /
TS fyor & T gesl B 3eT H F g ITART $t & aredt ufshan g:

1. Distillation / SHTHd

2. Sublimation / ST

3. Crystallisation / [ERNICRU

4. Chromatography / ST

Correct Answer :-

« Chromatography / EAEEpI

8) The length of the vocal cord in men and women is about and , respectively. /
7oul 3R ufgemel § TRIS P dars vH: R @A B
1. 15 mm, 10 mm / 15 foE, 10 fodt

2. 15 mm, 20 mm / 15 THHT, 20 foHt
3.20 mm, 15 mm /20 T8, 15 fie
4.10 mm, 15 mm / 10 f&, 15 foedt
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Correct Answer :-

« 20 mm, 15 mm /20 &, 15 foeft

9) The ability of a cell to divide into two equal daughter cells is called .

TSP PIRIDT B S JHH god FIRFE AU g # emarad . Fea Bl
1. fragmentation / o

2. multiple fission / SgES

3. binary fission / fgfa@s

4. budding / Gper

Correct Answer :-

« binary fission / ia G S

10) 1 atomic mass unit in kilogram will be equal to: /

frauma o 1 IRUTY] SoquT T8 1 & SRTaR g

1. 1.66 X 107* kg

5, 9102x 107 kg

3, 6.023 X107 kg

4 6.626 X 107 kg

Correct Answer :-

1.66 X 10727 kg

11) To get a large shadow of an opaque object, the point source of light should be placed i
T TR ag B 781 BT T B & T, yepr<r o1 fig wia TG ST =R
1. on the object / I¥J U

2. very close to the object / d¥] & ggd [RE

3. very far away from the object / 9¥q 9 dgd g3

4. inside the object / d¥J & 3R

Correct Answer :-

« very close to the object / %] & ggd fAee

12) Identify the microorganism from which the first antibiotic was obtained. /
I AT DI UgI forad wyw ufaafae @damaifes) urw gal

1. Penicillium/ BfAfferas

2. Rhizopus/TI%T;ﬁ'W

3. Staphylococcus /@'q?l?g?ﬁﬂﬂﬂ
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Correct Answer :-

. Penicillium/ﬂﬁﬁ%’qﬁ

13) What happens when a person climbs a mountain? /

STq P TR UETS TR Tl ¢, ol FT Ehell 82

1. The work done depends on the speed with which he covers the path. /
foram a1 B I =Tl W R R § forad a8 Uy aa e g |

2. The work done depends on the path followed. /

frur T B, 39 gR1 o) TR Yy R R HRar gl

3. He is doing work against the gravity. /

TE ¥ & faeg F R @RI

4. No work is done against the gravity. /
oA & faeg P18 S el grar gl

Correct Answer :-

« He is doing work against the gravity. /

T8 ¥ & faeg P RT3

14) Your post office is at a distance of 1.25 km from your house. Express it in metres. /
gfe ST STHQTT, ATYP W & 1.25 fFht &Y g wR §, O 34 Hiex & syaa S|
1.12.5m/ 12.5 91

2. 1250m / 1250 1t

3. 12500m / 12500 |

4.125m/ 125 4t

Correct Answer :-

. 1250m/ 1250 |t

15) Which of the following energy conversions occurs in an electric iron? /

T fagyq st @ Pafrfaa o @ o9 a1 Sl Suiarur gl @2

1. Electrical energy is converted into chemical energy. / ﬁ@ W'f, A Sort § gikafdd gIat % |
2. Electrical energy is converted into light energy. / fa qdd d)\rli, UHT Soll § gfafed Eﬁ?ﬁ % |

3. The heat energy is converted into electrical energy. / HCHI Wf, ﬁ’c‘fﬂﬁ ol # ulkafda Eﬁ?ﬁ % |

4. The electrical energy is converted into heat energy. / ﬁ’d’ﬂﬁ Ga‘_\fﬁ, ST S § giafdd gt % |

Correct Answer :-

« The electrical energy is converted into heat energy. / ﬁ“cgqa 3\_!“, ST Solf & gfRafdd gt g |
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16) Which of the following is a chemical change? /
Frafafed 4 4 919w wRmafe aftad 82

1. Breaking of glass tumbler / &1 & e &1 ccHl
2. Photosynthesis / UPTRI BEGNIYE

3. Dissolution of salt in water / Tl & @90l &7 fdge
4. Melting of ice / % 1 e

Correct Answer :-

« Photosynthesis / UhIRT BSEGRLY

17) Which of the following statements is CORRECT about cathode/anode rays? /

FUYrg/TATS fHeol & IR # Frfafed & & |8 o= & ugar-g?

1. Particles of anode rays are same for all elements. / Er'_‘ﬁg W % P, Tt ﬂﬁﬁ 3‘7 f?fq gHH _Epfa % |

2. Particles of cathode rays are same for all elements. / %‘t’ﬂ@’ fvon & DU, gt gl & ﬁm A Eﬁ?f %I
3. Cathode rays do not have mass. / FUre fpon o GoTHA 7‘|E°f E-?IT‘H % |

4, Cathode rays are not deflected in electric field. / TS Tl ﬁ—C{HH & o gl Hg(_‘ﬁ %I

Correct Answer :-

« Particles of cathode rays are same for all elements. / aﬂh@' fon & DU, gy i &b ﬁm A aﬁ %I

18) Which of the following statements is INCORRECT about acids? /

3 (TRYS) & IR # faferfad # | e $YF &1 I99 B2

1. Acids are the substance which contain hydrogen ion. / 3% U tIET?f% forgd BT%@TIF[ 39 ﬁ'%?‘f Eﬁ?f %I
2. Acids turn red litmus to blue. / 3%, <TeT g &Y Hidl fereng o sgd <ar %I

3. Acids are sour to taste. / 3% &G H @%E‘-ﬁﬁ o

4, Acids turn blue litmus to red. / 3+, et fereny o) arat foreny & gea &1 %I

Correct Answer :-

« Acids turn red litmus to blue. / 3%, ¥Td forewd &1 Hial foreqg & g Sar g

19) Plants use nitrogen which is present in the soil to prepare .

7Y, A A SUREA AT FISUAT 6 dUR &1 & forg &4 &l
1. vitamins / faeTEA

2. lipids / foIfUs

3. carbohydrates / WIETEE%?
4, proteins / greH

Correct Answer :-

« proteins / I
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20) A moving bus is brought to rest within 10s by applving brake. If the retardation due to brakeis 3

m/s?, then the initial velocity of the bus is: /
U Ao I H A% AR 10 T2 & HiaL [ 9L ST A0 21 12 3% & HEHEA 5
HI/#2 2 AT 9 &7 JTL9% 49 2T

1.2m/s /2 H/H
2.0.5m/s /0.5 /&
3.50 m/s / 50%1/&
4.-50 m/s / -50 #¥/&

Correct Answer :-

« 50 m/s / 50%t/&
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